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CHAPTER-1.
INTRODUCTION TO ACCOUNTING

1 Score Questions

............. is a person to whom business owes money.
enflmTmm al6Moe 83560 I2MBBO | SO 1O.......ad) MYaltO@IM
(a)Creditor (b)Investor (c)Debtor (d) Borrower

.......... is an example of current asset.

(o212l @R M @166 OBI~O Mo

6.

(a) Furniture (b) Building (c) Debtors (d) Land

Arun sold goods to X Ltd. Arun is the..... of the XLtd
@R®6MX Ltdm muowmeasdailg,.eroedX Ltd Meo........ @Rem
a)Creditor (b) Investor (c)Debtor (d) Borrower.

Mention the name of the value of goods remaining unsold at the end of an accounting period

80)Cr80 Ve lot) @da1wgniln a0GeAIMOIMOT 1MBANQY 1860 ISOOMIVILMEBBE0SNRl | OOl
O@MEaID

Assets-Liabilities=...........
@R M @ 1 I mIm)oendw § > 6d &0 2ld@ & 15 M.

Identify the type of expenditure for paying salary.

Mo M@ &M 21210186 MaleMonf® af) B> MO aldW .20 MO OIS,

7.

10.

The amount invested by the owner into the business is.........
osamandanilmlnq@measalenmos@dan...........

(a) Assets (b) liabilities (c) Capital (d) Expenses

Mines is the examples of...... ..... asset

QUMNSBW ..o BRM @B WD H6) HBIAOBEMAIEM

a)Tangible Assets(b)Intangible Assets(c) Wasting Assets(d) Fictitious assets.

......... is the branch of an accounting which deals with the process of ascertainment of cost
B0 |MEAIEIVOUMGAIM@ &M@ 16MIM 1B 166)M@ 16MIBH N AW .210INT & NSy
af1s1e6) Mm@ 1m)88@R 8O Ve lo Uy IEL@IEM............

(a) Financial Accounting (b) Cost Accounting (c) Management Accounting
(d) Forensic Accounting

Choose the correct sequence® WO (@A o0af)P)®) 8>

a) ldentifying, Summarising, Classifying, Recording

b)ldentifying, Recording,Summarising, Classifying,



11.

12.

13.

14

5.

c)ldentifying,, Recording,, Classifying, Summarising.
d)Identifying, Summarising, Recording,Classifying,

Which one of the following is not a business transaction.
@209 o jo@MAI @/l Inm ensalds Grg > MO

a)Loss of goods by theft b) Sold goods on credit to Hameed
MIWMEBBUDERI 2|0 a1 0SONSIWMYo analed i mowmemBdssomlaallgy
c)An agreement was signed with the d)Business pays the charity
contractor enflmimqy 8om@deRom@des)

&I HIOMAOWsMSIBa]00.2])

Identity the asset held for long term use in the business.
enflmTmmy dldeals 1R K O Imd@aad 0o l.{1588@R M @ ™6 ...
Find the odd one out and state reasoneQ®20m&eeNSOD 18d06Moal)P@
(a) Sundry Creditors (b) Bills Payable (c) Overdraft (d) Debentures
......... is the person who owes money to the business
en/1 @ 1aY aleMoa 3500 2MB8O | 6D 10................. af)MalOo®@)m

Name the term to denote cost of service and things used for earning revenue.

QUOQOMoENBIEOIMEMNED.21210IY MDY D> ....cvovcce.

16.

(a) Sundry debtors (b) Machinery (c) Bills Receivable(d) Cash at Bank

17.

18.

19.

20.

The withdrawal of money by the owner of business for personal use is

called......9samamd@a a0 mImoGR UK o Imow e lmInmladmlmoatemoanllmdalaileanyma
(211 I a)Malto®mm

(a) Purchases (b) Capital (c) Drawings (d) Sales

Income received in advance is ........ D&y 5101E] ]IS B:OYb........ G@Rem

Granite Quarry is an example of ....... asset (200MJ&I0N.............. M 9BIaOEEMAIEM
(a)Wasting (b) Intangible (c) Fictitious (d) Tangible
Sandhya took an educational loan of Rs.2,00000from Canara Bank Thrissur.The relationship

which exists between Sandhya and Canara Bank

UMW §, EIMOIENUIB YR 2@ 1AM M0 PG S0 aldrSoIEBN .
&IMENIIB:0o VMW § @Yo MR 12RBBMNIMDoal)MMI6M?



21.

22.

23.

24.

25.

20.

21.

The excess of income over expenditure Is known as ....
0.2121016M 8D S IV AUQRIMOOD ............. af)MalO®@)mM,
a) Loss (b)Surplus (c) Profit (d) Deficit

2 Scores Questions

Classify the following Assets under appropriate heads
9210220210665 1B o® 10 2] af)P )&

(a) Cash (b) Debtors (c) Machinery (d) Land

Complete the series based on the hint given.
®2602OM 1@ 166MT3 21ME@RS1MOIMO|S; 00 1158 ¢N0al @ la{lee, &

Tangible asset. ..... Building

a) Intangible asset ....... b) Fictitious asset .......

Find the odd one out and state reasonaQ@oem &N 18:d06Moal) Py d
(a) Goodwill (b) Copyright (c) Machinery (d) Trade Mark

Classify the following into Capital expenditure and Revenue expenditure.

®IOLaIO@YMAUOD s § I f1Q@af)d: M Oattd W .oy, 00UM jaf)d M Oatdw].ojdafmmlaBommoo
© 101668

a) Salary paid b) Machinery purchased
(DMUG0HHIS)O0) end1molaness]
c) Wages paid c) Computer purchased
CUOMoM@ & 1 &Mmif3d0Id6asE]

Suresh is a commercestudent. He classified the users of accounting information into internal

and external as follows.Do you agree with this classification? if any mistake, correct them.

0260 M8 {230 1WIWIV)60 2 @R HOVNE 1o NG EBREHSO A IEWISMISHIGMIOPa|O®YM®]
@O om0 2{1@1e0MemQ 20 e 1T M 100Dy &

External Internal
Management Owners
Bankers Investors
Researchers Creditors
Employees Customers

4 Scores Questions

Writeany four objectives of accounting .
@R&OVNEBE 1M 00RO E 12 oMIL B BB L) O



22.

23.

24.

Write the qualitative characteristics of accounting information system .
@R EOVMNE o NLEEBRE )OS ¢NEMIOR B ML 1EW H® & WD) &

Match the following ¢.21@)0alS1¢21386) &

A B
Goodwill Wasting assets
Debtors Intangible asset
Oil fields Tangible asset
Building Current assets

Mr. Anilkumar isappointed as an Accountant of a firm. Explain the functions to be performed by
him.

2 1A @R 1M &2 BB IN O 10216 £6V6eN8M 0 M IWAMo s 151.6BR 8O VENBM () af) M
21 1@ GEREGAN0a))eMmE0 WAL GREM M B0 1esO M. Al El 60166, &



CHAPTER-2.
THEORY BASE OF ACCOUNTING

1.Score Questions

1. Adjustments made for Outstanding Expenses ,Accrued income etc in the final account is

done according to the ...... Principle

0&IS) OO BHOIMENID 6 1@ 886 21810 & 1D, & 15IM) S UBYAIMo @SB3 1l
WMo l(@ 8o & 1M E.21B S0 MD 10) 8 20EMAI VM@ Io@ 10 1.2]0 @Y.
(a) Business entity concept (b)Matching principle (c)Going concern concept (d)Dual aspect
concept

2. According to ..... concept a businesswill last for a long time.

enf I lmav 8l eald daloMaIm 1 6o af) M (aIlM @I 186)MBR Vo nRI6M ?

(a) Business entity concept (b)Matching principle (c)Going concern concept (d)Dual
aspect concept

3. Assets =Liabilities+Capital is developed with the help of ........... concept
af)® BRI IOAIEM BRHO VENE oK) AN | 0D NSIW @

a) Business entity concept (b)Matching principle (c)Going concern concept (d)Dual aspect
concept

4. Revenue Is realized when ............. QUAIMo@ILIBLOJAI B M@ af)GaldA.. ......
(a)Sales is made. (b)Order is placed. (c)Cash is received. (d)Production is completed.

a)i @] mmocnil866midudb) RIBWAM@ B EIUID
c)atemo il @ 1666MI0dd)© @a]IBMon I BOM @I & GMUIWD

5. IFRS stands for ........... IFRS aflapelle:o]ens
6. According to.......... principle frequent changes in accounting policies adversely affect the

reliability of financial information.

@R &9 V6nE 1683 MW 6B T30S B2 WIWYENSIHOMAIQEBBBD WM 0§ L lIREBE s MM @
o@endWen)o

a) Conservatism (b) Consistency (c) Prudence (d) Materiality
7. A building was purchased for Rs.500000 The market value of the building is Rs.6,00000. The

cost that should be recorded in books of accounts is .......
ao)enilcdwess 500000 ol 6616851 .GRO 100G > lniem 1121600000

©2 Al @OEM . 6M &) NV O > O |G Y@ a6 6.2IACHOH NSO .
(a) Rs.500000 (b)600000 (c)1100000 (d) 100000



8 Concept makes a distinction between a business and its owner.
enflmlmqyo@samunmomen lepggnil® § XMeealQ lalO®MEGR O DNE 1683 ®@.Jo
a()P)O) &
(a) Business entity concept (b)Matching principle (c)Going concern concept (d)Dual
aspect concept
9. Transactions relating to the qualitative aspect of business are not recorded because of the--------
principle
en 1 1@ YOO 1M R & QIS d: 6BB LD &6 86) 2 M) ) > YD) | BB ER6LA IS O1D) 18)a ) M BRSO DVENE]
688 OOICAM ?

(a) Business entity concept (b)Matching principle (cGoing concern concept (d)Money
Measurement Concept
10. Assets are shown at the cost less depreciation due to the ........... principal.
@RI 16 DEOMD AIMod:)02J@8] JorUIRIMMY &G & I6M 186 M@ A OO Id:IRI6M ?
a)Business entity concept (b)Matching principle(c)Going concern concept(d)Dual aspect
concept

2.Scores Questions

11. For every debit there is an equal credit. Explain this statement with the suitable accounting
principle.e26@emeni1gImyom;al| 1@ (@ wlQ Jo@ o e my (alm @166 M G 66 VenE16aE O @ICA0)
ONwEl &6

12. A firm decided to make provision for doubtful debts @ 5% on debtors.Name the relevant
accounting principle applied here and explain.

B0)MndalMoaeniennFmilman 5%

& 13080SMoROD 117 0O &) MRIIW 2] ).80® OO @ (LS00 E & @166 &

5.Scores Questions

13. Identify the relevant principle and concepts associated with the following
®IOLa I0@YM (I MIUM B WD EHS | 951 2GR £6 VNE 1681 O @IBBWD RO M 0 f) 920 &>

(a)The quality of manpower is not recorded in the books of accounts.
M) § L EOUEBBEG SN EMEDMBEMEE o M) 683G 1M EOELN IS0 1],
(b)Capital is the liability for the business.
ageiwmoenfimimqylnenendw j@@den.

(c)For every debit there is an equal and corresponding credit.
@26demnilgInemealjad®@wlQeems.

(d) Contingent liabilities are shown as a footnotes in the balance sheet.



BR& M2 16O W § O & D eI M) &G 1M 002 IOSE.21B 86,

e) Anticipate no profit but to provide for all possible losses.
212600 12 a 1@ 1M Yo (oI 82166 &>

Match the following

A B
a)Closing stock is valued at cost price or market price whichever is less
©@al128Me.21810Ro U latem 1110 ®ICMA 06210 @ a@ICEMIBRONT BGRMD Historical
emegOmlead eauoss 1nenalla

cost
b)Effect of an events be recognized
in the same accounting period Going
B0)MoAOD MO0 (8o BR @R HOVENE 1681 &:oeiwgallmdmam concern
o201y

concept
¢)The transactions are recorded
at their original cost Matching
€0Sa138) & (D @RI®YOSWLOIAMA principle.
021010/ 6O AIS)O10) &.
d)The business will run for an indefinite period Consiste
enflmimqyEldeaisdalomlaim @ a0 ney

principle
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2.

CHAPTER-3
RECORDING OF TRANSACTIONS -|

1.Score Questions

Identify the documents on the basis of which transactions are recorded in the books of accounts.

805 125)d 0D &M &) o MY O & O 10D G213 86 MU DO ME NI WD A IEWIN | HMEWId: 300 GO ?

Identify the term used to record transactions in the journal

8050108 (D ER26Mal 1M EREN SO (o (@ 1@ ®YOSEaIORP) )b

3.

Purchase of Machinery on credit is recorded in the ...... ... book

02 MO 18SOM 1683 1WI TG ELN|S)OMIM)SBEWEN, B

10.

( a)Cash Book (b) Purchase Book (c) Journal Proper(d) Purchase Returns Book
Identify the source documents used for recording purchase returns.

1B 2JM O1e5eME(MELNA]SOMOIMBBO O 1SERELAJ) P @S

Name the books of accounts in which transactions are recorded originally from a source

documents

90ailseoaldglmmImoGrE AW 1gnSa 125 DG |SOM)M@ MBS 8 6MEa M Md0al)¥)
OB

Identify the deduction granted by the creditor to the debtor as an inducement for making prompt

payments.

&) O § Ma®OD 1M881MmemaErs Al msemym@ 1 a(@w1Qdeweni Qd es M@ e, M 11Nl @
MM af) PO >

Complete the following on the basis of hints given
®I0LOM1588M)Y 2IN®MMA] 2] ald@la{lo6)d
Journal -  Books of Original Entry

Ledger s

Classify the following statements into debit and credit

®209OM 1588 IM @M aglaaweni1Q oo (@10 Jodems D) d
(a) Asset Increase b) Capital increase c) Liability decrease d) Expenses decrease.

2.Scores Questions

Give a transaction for each of the following
MI0Lal0®YMAUW 86) 3ICIGNSIIS) B WD af)P)O) &

a)Capital increase and Asset increase b) Asset decrease and Asset increase
o) etmlo @MU Qo QUBW dgtp . @RYTUT 8} 0 Q) BP0 B FAP 0 2.6 PP
Show the accounting equation on the basis of the following transactions
MIOP|O@WYMENSA IS 0DH) BRSO DENE oI MANII & |0 IGWIUI |06 B>

a)Sunil started business with cash Rs.500000 b) cash paid into Bank Rs .20000



1.

12.

13.

c)Sold goods for cash Rs.10000 d) Paid salary Rs.5000
Sales amount within state Rs.300000

Purchase amount within state Rs150000

GST Rate: CGST - 12% SGST -12% . Calculate GST payable
Differentiate CGST,SGST and IGST

CGST,SGST, IGSTenaumasallm dqemsidaf)L)d

4.Scores Question

Complete the journal entry for the following.

(Returned goods to Mohan)

Date Particulars LF Debit Credit
1/1/2010 | Cash Account Dr 200000
TO s 2,00000
(Rajesh Commenced business with
cash)
5/1/2010 10000
Bank Account Dr
T 10000
(Cash paid into Bank)
8/1/2010 | ... Dr 5000
TOiieeeieieeiiee, 5000
(Rent Paid)
3000
Mohan Account Dr
10/1/2010 3000




CHAPTER-4
RECORDING OF TRANSACTIONS -Ii

1.Score Questions

1. Identify the entry that affect the debit side and credit side of the cash book
80)d § 2 N6 1M 80 WY BINOOM Y06 W IQ BINOOM@0o MW Maf)(d(S1®0SE100
L0 >

2. Identity the system under which petty cash book is usually maintained .

000G 18 | e8] N HE MO WIOEMDRIIOIBN MM IWIMonROMOM LB

3. serves the purpose of both Journal and theLedger
- 8REMETN DO O @0 ORI RO TDO®Y BB U BBAMINEAUQINRM @

(a) Purchase Book (b) Cash book (c) Sales Book (d) Journal Proper
4. Purchase book records.........
al@6.2JM N8 1T EOEUOA|S;OTYMA ...

a ) Credit purchases b) Cash purchases C) Purchase returns d) None of these

5. Identify the source documents for recording Purchase Returns
alC gm0 1e5eME(MELNAIS;OMMO 1M 88O N1SCOELROMOMY ))&

6. Identify the source documents for recording Sales Returns
om@ @ olegame(meLeals)Omm Im88e 0 Nlseoa~QomamP)m) s

7. Credit balance in the bank column of the cash book means
& § 22l ) 06 | rUOB> G Go o (W QY enudelndqy 3 aflafleemey
(a) Cash at a bank (b) Bank overdraft (c) Cash in hand (d)Bank deposits.
8. Sales Book contains ........... oM@ 1@ en) $6 1M 6L IS)OD M ....... GREM

a) cash sales (b) Creditsales (c) Sale of Asset (d) sales Returns

9. Which of the following is not a book of original entry?
@260 OmM13880 LW M, 06 320 @0 11N @ af)0d(S1GRLOOD D af®

(a)Cash book (b) Sales Book (c) Purchase Book (d) Ledger

2.Scores Questions

10. Write two examples for contra entry
G IEM(SIaf)MD(S1(#6)NE OBIAN EMEBBMD])P ) B>

11. Differentiate Debit note and Credit note
eawenilgemIsaiBWIQ emog Mz 1aRga 0§ @ MVEBBWDA]) L))



12.

13.

10

Prepare a Single column Cash book

Date Transaction Amount (Rs.)
2010 Jan. | Vineeth commenced business with cash 200000
1

. Jan Cash paid into Bank 2000
2

, Jan | Sold goods for cash 10000
6

. Jan bought goods for cash 15000
12

y Jan Paid salaries 13000
20

y Jan Received interest 2500
28

4.Scores Questions

Prepare a Double column Cash book for the following transactions.

Date Transaction Amount (Rs.)
2010 Jan. | Balance b/d

1 Cash in hand 20000
Cash at the bank 160000
,» Jan. 6. | Cash paid into bank 30000
,,» Jan. 8. | Paid Rent by Cheque 4000
,,Jan. 15. | Bought goods 8000
Jan. 16 | Paid electricity charges by Cheque 600
,,Jan. 19. | Paid salaries 8000
,,Jan. 21 | Withdrew cash from Bank for business purpose 7000
,,» Jan. 22. | Withdrew cash from Bank for personal use 6000




14.

11.

12.

11

Prepare a petty cash book on the imprest system for the month of January 2011

2011 | Cash received from the

Jan. 1 | chief cashier

Paper

Jan.3 Postage

Jan.6 | Office cleaning

Jan.10 | Pencil and paper

Jan. 15

Jan. 18 | Postage 40
500 | Jan. 20 | Pen 20
15 | Jan. 21 | Postage 30
30 | Jan. 22 | Office cleaning 50
20
18

From the following particulars prepare a s Sales Book of Athira Limited,stationery business

2010 January 15. Sold Goods on credit to
Arya Agencies.

10 Ream of white paper@ Rs. 120
per ream

50 Dozen Ink pots @ Rs. 20 per
dozen

40 Colgate toothpaste @ Rs.20 per
one.

Less trade discount @10%

January 18 .Sold on credit to Amala Agencies
50 Colgate toothpaste @ Rs.20 per one
100 Lux Soaps@ Rs.30 persoap
100 Packets Surf washing powder @ Rs. 50
per packet.

Less Trade Discount @ 10%

Prepare a Purchase Book from the following for the month of January 2008

2008 January 1 . Purchased from Kumar
Agencies
30 tables @ Rs. 1500 each .
Trade discount 10%
Jan.13 Bought from Athira Agencies
5 Steel Cabinets @ Rs.3200 each
10 tables @ Rs. 4000 each
20 Chairs@Rs.1000 each

Jan .21. Bought from Soorya
Furniture
40 steel racks @ Rs. 2000 each

Jan.25. Bought from Vivek Traders

20 Executive tables@Rs 3000 each

Trade discount 10%
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18.

12

.Enter the following transactions in the Purchase Returns Book of ABC Limited.

2014 April 8 Returned good City to
Vinaya Traders
10 bags of tea @ Rs. 250 per bag

April 20 Allowance claimed on

1000

account of mistake in the invoice Rs.

April 26 Returned to Amala stores
50 chests of tea @ Rs. 500 per Chest.
Less trade discount @ 10%

Hamsa purchased goods for Rs.12000 and Trader allows him a discount of 10% at the time of

purchase.

a) Identify the type of discount.

b) State other type of discount and differentiate them with the one above stated.

Ao 12000 @ i@ &6 MIWMEBBBEESWO 1@ ImM.I683] .6[sWABRWIWD S 10%

awlmi &veng @em)ud]a))
a)w1m &v6ng aRomm)® 10190 Tw) &

b)AN W@ o WM & DENS) > (D (I M DI 1196 > W 0 BB E TR @B | OO AW 1M > DENS) QO WGBLf D) § O

MEBBND )P0 W 06 .21Q ).
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CHAPTER-4
BANK RECONCILIATION STATEMENT

1.Score Questions

Bank reconciliation statement is prepared by ....... 6nId& reconciliation QY OAMO MIOIBO;MO
(a) Bank (b) customer (c) tax Authority (d) government.

Debit balance of passbook shows.......a1dmyenpas laye0ewenilg eudaindmy &dem1eeymao
(a)Cash in hand b) Cash at Bank c) Overdraft a) None of these.

Passbook is a copy of......... a2 NP AE o) M 1M OOl Ba]o6m

a)Copy of customer account b) Bank column of cash Book c)Cash column of cash Book

d) Copy of receipts and payments

A bank reconciliation statement is prepared with the balance. ......
6nI2®; reconciliation GYQ OAMO OYIOIEH) M@ aROMEII06UILIMEMVIS)8YS]
a)Passbook b) Cashbook c) Both passbook and the cash Book d) None of these

4.Scores Questions

Sometimes the balances as per the pass book and cash book do not agree.
a)Write the name of statements is prepared to show the disagreement

b) lllustrates the causes of such disagreements.

211816 20D a1 M 6N B6) (aldh I D GSEMUIRIM TV 0 ds § Icd 611 H6) EUILINMD M0l R Hemenm gy
a )@ 0ald©OMOaS;OMAUIMDEUMETDYI0I BN MEIVT OAM ) Gal® af) L))

b) (@ § 2TVEBRUD S OGBSI OEMEBBUDLL§ BOAI H6) >

Prepare Bank reconciliation statements of Pooja Traders For the month of January 2010 from
the following details

Balance as per cash book. Rs.28,000

a) Cheques deposited but not cleared for Rs.8000

b) Checks issued but not presented Rs.2000

c) Bank Interest credited in the passbook  Rs. 1500

d) Bank charges debited in the pass book Rs.600
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Prepare bank reconciliation statement from the Following
a)Balance as per Passbook Rs.25000
b)Cheques issued but not presented for payment  Rs.4000

c)Cheques deposited but not cleared Rs.5000
d) Bank charges not seen in the cash Book Rs. 300.
e) Insurance premium paid by the bank Rs.500

Prepare a Bank Reconciliation Statement of Surya builders for the month of 31st January 2013
Bank overdraft as per cash Book Rs.15000

a) Cheque issued but not presented for payment  Rs.3000

b) Interest and dividend collected by the bank Rs.2000

c¢) Insurance premium paid by bank Rs.800

d) Bank charges debited in the pass book Rs. 200



CHAPTER-6
TRIAL BALANCE & RECTIFICATION OF ERRORS

1.Score Questions

1. Sale of Machinery is credited to sales account.lt is an error of.............
easilemalafgecn @1 miGoesvenslme @ w1 6.210) ©3.e00 (@O lapgae®mQ o6

a)Errors of Principle b)Errors of Commissionc)Errors of Omissiond)Compensating errors
2. Which of the following errors are affecting the agreement of trial balance?
@269 aj0o@MAUW @@} eruoaidmilny eudwlenm eoq aRo ?

a)Errors of Principle b)Errors of Commission c)Errors of complete Omission
d)Compensating errors

3.Carriage paid on purchase of Machinery is debited to Carriage Account. Itis an error of............

@12 emO 12683 GMId DM@ & I AUdaOMdal],
ARanmellereevenelcaweniln 6.210) OO «Homoom lapggemQd6m

a)Errors of Principle b)Errors of Commission c)Errors of Omission d)Compensating errors

4, Rent paid Rs.3000 was entered in cashbook as Rs.3500.This is an error of .........

QLS 300003~ M@ 1@
350000 @I 1526m & | I3 6N 6 1@ 6 21101 1588 .e0® n @ Tw oD l2pggemQo6.

a)Errors of commission b) Errors of Principle ¢) Errors of Omission d) Compensating errors
5. Name the statement prepared for locating errors and checking arithmetical accuracy of the

ledger accounts

QD& aNM8Yat 18106 M@ M0 021 RA BRSO DENSY BSOS NEM 1Md: Y @ Y i@ 1600 WH0M@]
M206UNE M@0 MGV OAM 1M O0GIN L)@ &>

6. Name the account temporarily prepared to make the trial balance agree \till the errors are
located and verified.

Q21D SO NSOD 1O 10O M @ AUN (S @DENIIAIMD M @Al AUIMD DI & el lead® 1m0
H6)MBROBO VMNETM DOECAIDOY)®) &

2.Scores Questions

15



10.

16

From the following transactions ,identify the types of errors
M0 10@MAUDTGBMIMIOMQ )88 20SMOM 101940 @)

a)Wages paid for installing a machinery Rs.2500 was debited to wages account.
ealmolmnda leaymalmyeaiengln@ e lmengmy, crukm Gre e venslanemuenily e a1 oo

b)A credit purchase of Rs.6000 from Anil& Co. was not recorded at all.

@M @& Mm@ @m0 MOWMEBBW & SOD G688 1@ 6 21dH0IMalyBepad@nilgcaldw]
Rectify the following errorsmae¥a10@)memQ & D@ 108

a).Sold goods for Rs.8000 to Athira Agencies entered in the Purchase Day Book

@R M 1Raf20d MM 10 WM AINQ® al@ 6.1 6Ny B8 12IDG(EMELNISHOD 1@ O

b).Rent paid Rs.4000 debited to Landlord Account
QIS&M@ & 1@ 9samam a0 Gre #e Ve ladawenilg e a1 ;.

4.Scores Questions

Rectify the following errors by passing the rectification entries
MNP I0@YMAUDOSD 100D @ f) DS 18 WD) L2 O ) D@ 1) O >

a) Purchase Book was overcast by Rs.500
al@6.2 M6 500 ©alGRW]dhod)Slal)P@
b) Salary Paid Rs.2000 was wrongly debited to Wages Account

(enIgo 2000 @Ya M@ & IWamMQIWIeAIRM GrH6 Venelmdaweni1n 0.0 @).
c) Goods Sold to Anitha worth Rs.5000 were completely omitted to be recorded
@M M@ ©6) 5000 ©aI® @6 MIWMEBBW QM 6Ny & 1Bt BeNaW]6 2180 dMI15 61>
d)Office furniture purchased for Rs.5000 was posted to purchase account.

5000 3 a1® #6) 3DadlM anB6m 1.2JBID6BE 1 M oI 6.2 M) 6NY S 1M EO OISO ]

A Trial Balance is given below. Rewrite it ,if there is any mistake.
®20¥OM1588(s@@enIdaIMM10I0mQ D@ 1O &

Trial Balance as on 31/03/2010

Particulars Debit Credit
Cash in hand 10000
Capital 200000
Sundry Creditors 10000
Sundry Debtors 15000
Salaries 8000
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Rent Received
Machinery
Building

2000
30000
149000
212000 212000




CHAPTER-7
DEPRECIATION ,RESERVES AND PROVISIONS

1.Score Questions

1. Find the odd one and state the reason.
agogg@']ama;om@mga;&oroMom | BORIEO) B>

(a) Copy right (b) Patent (c) Trade mark (d) Machinery
2. Under Diminishing Balance method depreciation is calculated on...........
wlamlaafleroel | 010/ 1@ 1@ Em® QMo &M HNIHOIMA) .........
(a)Original value (b) Bookvalue (c) Market value (d) Replacement value
3. Profit on sale of machinery is ......
en lmolallmdes)emdweaiclsanmeaneo ... G@Rem
a) Revenue Profit b) Capital Profit ¢) SuperProfit d) Average Profit
4, As a result of change in fashion or new invention, some assets may be discarded before their

productive life come to an end.This is called .......

aDDHM IR OUMAIQEBBUDO B IENS) 000 1@ &6N8 1S 1M EBRDH AMEI B M@0 6800 @ |IBM
SHARNIWBHILIoSHY @M@ M@ M @ oM 2f1218R M @ 180D 9 Calssf e BoeME1EYM,.eDM 10M .......af)
moemigleenmao.

(a) Depletion (b)Exhaustion (¢) Amortization (d) Obsolescence

5. Increase or decrease in the value of current asset is known as ........
&06MNEBRM @ @805 11 ]apMsd 8 MaQee0aflapdd ........ af)M RO T®ejsm;.
(a) Amortization (b) Fluctuation (c) Deprecitationb  (d) Depletion
6. The term ....... is used to write off intangible asset.
050 1WIM&HYTWOIODBRHM @ 1680SEO@W AdIMo ............ af)mMO sy
(a) Amortization (b) Fluctuation  (c) Deprecitation (d) Depletion
7. Complete the following series

@IOLOAN 1@ 166 MMV 2IM@BMITVD | 2] G(UDAM latJBOYD 1@ 18613 >
Reserve : Appropriation of profit

Provision s

18



10.

11.
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Depletion method of depreciation is used for......
O RIMod:eMEOI8M® 1MW TW o fl DBl 19 alte @I 100MA ....... moem

(a) Cattle, loose tools etc (b) Mines, quarries etc (c) Machinery, building etc (d) None of these

4.Scores Questions

In a classroom discussion Aju, a plus one student , argued that there is no difference between
fixed instalment method and Diminishing Balance method of charging depreciation. Raise any 4

points of your own to counter the argument.
BHIM 0go.213 2@ @oJmuiemails  ddmileeR)cm® adMo.210RE 0219 ;M@ 1M 88AN 18 M enm
Mmoo lo@owlalm s lef oudaid(milol@omen a0l @ § 2T 1gaf) MIdE 186, Md

BeOMEUMW186M® 1MW o5 121)040IIB6BR DO WA O 18IS D> .

On 1st January 2019 Ajeesh co Ltd purchased a machine for Rs.75000 an spent Rs 5000 on its
erection. The estimated life of the asset is 8 years. At the end of which its scrap value will be RS.
8000. Find out the amount of depreciation to be charged annually according to straight line

method of depreciation.

2019 2M)AIR 1AM oMM ® 1B L] @R MW & mumlaila gy af)mmndaimo 75,000

0 a1 @) &6 630 (M0 LIIEBRY > W0 @R L0 {186 M@ Imyeiens] 5000
0221621810186 & ™06 .21 O . (ADOD 1M (IUBODM > IRIIUW 1)) §IB HRI6M GRO 1M GLo )
882,810 8000

02 a1 @0 @R EM GO AIMo &M &N IENM@ M ltalmmalemalj MmN @GR e M 1t e UB o212
AL 21039 21QMEM® AIMO.21810T B6MENIEO) &>.

Mention the reserve created out of capital profit?

& §2al1Q@eIE O 1M M0 M o1 8600]S)M &M@ WMoaO@M) Vg 2o {1068

How does it differ from revenue profit?
8@ OAUM § 22126 @M 1M 0 af) (i8I0 @ § 2Maa]5 1@ 186

Sheeba Agencies purchased plant and machinery for Rs. 40,000 on 1 st January 2013 and
depreciation is provided at 10% p.a on diminishing Balance method. Draw up Plant and

machinery account for the first four years.

leniafradmlm’ 2013 2m)AICIamMIo@I™ @1 40,000 ©)~l12)S 66 1EQ)®(MoLII6BE ] 2),.
10 %M 186/ |G EM@® MIMo d:eM &N IH6 MO NS [T BB E | HOMMILR LD HCOD H6BBONH 1M 1BR #6D
6 af)9)O OQDOIE) B>
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X Ltd purchased a machinery for Rs. 1,80,000 and spent Rs. 12,000 on its installation on 1 st
April 2014. After using it for 3 years , it was sold for Rs. 1,25,000 on 31st March 2017.

Depreciation is provided at 10% on fixed instalment method.

af)&qylalgal 2014 afal@amicml@] 1,80,000

©2a12)S 86 1R ® (Mo (L6813 & @Yo BRON L0da {186 mM@ 1Mo 1 12000

02 n12)S 86 & ™Y06.21@) BYA M AUBHO DD a IGWINOD 1M G Ho 2017

@23 2] 22N | OB 10@IMI@ID @ (@M MO ® (o 1,25,000 @3al® #6110 6m@adMo 10
WO2dMoM @86 1@ mIvailmmalemal§ UM ILII6M &M &I HNMO) .

(a) Pass journal entry for recording the purchase of machinery

®(Mo U263 IOV oMW ]2 ,8862BEM @) Md(S 10 f) L) 8.

(b) Find the amount of profit or loss on sale of machinery through a statement.
9®(Mo1QEa|2DOB8RIDEMYEBBGD &Ml 15166 M@IMOWBEqUQ 0RO ORIOI 8O d
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CHAPTER-8
BILL OF EXCHANGE

1.Score Questions

A bill is noted when it is ....... a@6n/1e]6MI§6.21Q0alS;MA ......... 0-21Q)EMUIWI6M
(a) Dishonored (b) Honored (c) Discounted (d) None of these

The due date of the bill drawn on January 29, 2016 Payable one month after date is .......

2M)AUR] 290 af) 0 B2 ModdanUwleggenile/la o0 d a1 uwlee AUMIM1EeM@ ......
oo eed6m

(a) April3 (b) March1 (c) February 28 (d) March 3
Encashing the bill before the due date by the drawer is called.......
@2210UW 186 2 MW GWIWBalemad®]a0Qmeni1e#:68 ......... ag)myallgleeym;

(a)Endorsing of Bill of Exchange (b)Discounting of Bill of Exchange (c) Dishonour of Bill of
exchange (d) None of these

Making the payment of the bill by the acceptor before maturity is called....

@& MaTQamile]@:deniwleenm)mdowlnim oy e 6rs® eamaay .......
ag)myaflgles)m;

(a)Renewal of Bill of Exchange (b)Retiring of Bill of Exchange (c)Discounting of Bill of Exchange
(d)Dishonour of Bill of Exchange
What is the name of the bill prepared by the drawer before it's acceptance. ?

@RoW) @ 1860a]S; M@ 1My MdWE(WIWA®EI0I06 I@mileflomallglesmeaioom 2

Mention the name of Bill of Exchange in Indian language
e § DEHW @enile]B3dal af)d e alemilm1gl86mMelto om0

Complete the following series based on the hints given
@588 2IM@RMYMV® 1.2]6(006M lnt) B O d:© 106 &

Bill of exchange drawn to settle a debt . Trade bill
Bill of exchange drawn for raising funds temporarily : ..................

2 Scores Questions

Explain the days of grace associated with the Bill of Exchange.
enflg]@dal af) s> M ¢ale@l 0@ ENIMWOA]SEW® M B3Ial (DM af) ®I06eMM10BRI 868

4 Scores Questions




10.

11.

12.
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Mr. Ramesh sold goods worth Rs. 12,000 to Mr. Suresh and received a bill of exchange for two
months period. On due date Mr. Suresh failed to pay the amount of the bill. Pass dishonor

entries in the books ofMr. Ramesh in the following circumstances .

alqudoeani 12000
©3a1®20SMIWMEBBGdA TR A M6 M0 66, 0@ o e RIMO O &1 LW wcaoenlgf qulle

@186 HW)06 210 ©)).
@2210UWO & @MEIUMMYE - aleMoM@bd; I]e) . @I0La|O®WYMAVIaN 210 § 838 1BOGA]
M'006NY 86 1T EOEO S COMENSERAEM@Baf)Md(S 1nf) P @)

(a) If Ramesh retains the bill with him.

(b) If he discounted the bill through his bank for RS. 11,500

(c) If he endorses the bill to Mr. Rajesh

On 1st, January 2019. Aravind sold goods worth Rs 16,000 to Jayan and received Rs 4000
immediately as cash and for the balance amount Aravind drew a bill on Jayan payable after 3
months which was duly accepted. On 5th January 2019 Aravind discounted the bill with his
bank for Rs .11,700 . On due date the bill was dishonoured and noting charge of Rs 150 paid

by the bank. Pass Journal Entries in the books of Aravind

2019 2myuclamln@eonilas 16000
2l @0SMIWMEBBRD R MG 86) & ™09 MS M2 W B0 ©y alaleM2 WM I8 @166 8 ®) 06 21

@ 601266 10 & 86O 12 MAMe O &AW ]®W)ggamile] 2@ Gro U3 &:@ 1 2)M@ & 1 .201
9 2m)uE ] 50 @S enil@derudes 1T Mm@ &) & ®)o W 1M &D6nE .21 ™) 11,700

©3 a6 @66 0 W06 210 @).af)MI@eni e/l 0 0 d 221 UWIE TN 0 2@ aleMo M@ &I (D &
600 12J. @AM UIE5 150 BateMIFlow) 210BE M@ ;] .

@REANM®M00MYH6 1en @AW MIMDOA|SERAM@Af)0d(S ¢ (DGO A|S)OM @ .

Distinguish between Bill of exchange and Promissory note (Any four)

80)en/ 1M 6300l af) & M) € 216010 (aLldA IMOTEMIF o MR 12REB OO 12l)oMILlal o MEBBWAH)Y,
o) .

Ravi sold goods worth Rs. 10,000 to Mohan on 1st January 2015 and immediately drew a bill
on Mohan for three months for the same amount. Mohan accepted it and returned it to Ravi. On

4th March 2015 Mohan retired the bill under rebate of 6% per annum. Record the necessary

journal entries in the books of Rauvi.

2015 2myauclamimall 10,000
@~ 112101MIVIWMEBBREAI~NM T 86 MGRM 1MW Ay My@d e oM & a1 Wl lmeaogeni]

@630l af) @ M) G216 G(WIO.21QY )M, CRAIOMBRO CRoU31d:@ 186) & M0 21® ™). 2015
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@2 2fmoeflemdand 6%
oleonuq af)mmlees cdenlef 0l 6. 210 @)en @@ oMo (g @asn 66 l0rIcRAM@af)0d

(1 (DG EUO SO .



CHAPTER-9
FINANCIAL STATEMENT -1

1.Score Questions

1. Write the closing entry for sales return.
emal@mclegemlayonegomlesaf)md(sag)w @y,
2. If closing balance of stock appears in the trial balance, it will appear in -------- only.

(s@@erudIMM@EZIM o 0) GINIBE) (a1 § H2H60|S) W IOME |G GRO) —--—m -
@A (@ EQYWDOIS)OD WSS

(a) Trading account (b) Profit and loss account (c) Balance sheet (d) Both a and ¢

3. The statement showing the financial position of a business is known as --------

aoenfImlmauay @O aud I 1 a1 8 26m 166 (et @I QUM @I ENY -mmmmmm-
a) Profit and Loss account(b)Balance sheet(c) Income and expenditure account (d) Receipts
and payment account

4. Write the adjusting entry for interest on Capital.
221wmEm 10 00alalle®moenimy].aejerw 2qylot) 6RAEM@af)M(E1af) L)) .

5. Choose the correct equation from the following
0RIWIWMANUID | 0@ OO ETDS) D6 >

(a) Operating profit = Net profit+ Non-operating Expenses - Non- Operating incomes
(b) Operating profit = Net profit - Net operating expenses +Non-operating incomes.
(c) Operating profit=Operating profit-Non-operating Expenses- Non-operating incomes
(d) Operating proft=Net profit+Non- OPerating Expenses+Non-operating incomes

6. Sales=----------—-- aflgiaieal =
(a) Cost of goods sold- Gross profit (b) Cost of goids sold+Profit
(c) Gross profit-Cost of goods sold

4 Scores Questions

7. Opening stock Rs.18000 Purchase Rs. 22000
Wages Rs. 50000 Closing stock Rs. 15000
(a) Find out the cost of goods sold. (6&2qYedal WM MR &6eal1S1664 )

(b) What will be the gross profit if the sales is 40,0007

Q@M 40,000 BZaIGROEME GAIOINRMEAIOMAIIEod NS i1S1H6
24



Compute the cost of goods sold and gross profit with the help of the following informations

©202 @M@ 166MA BB M1M)06 & TN 63248 10W CQYI D AW, 0RIOMEIdBoal) M 1B 6ME)a(1S]
B

Purchase Rs.1,00,000 , Opening stock Rs. 60,000 , Return outwards - Rs. 7,000

Return inwards Rs. 10,0000, Sales Rs 3,00,000 ,Factory rent Rs 25,000 ,Wages Rs.50,000

9.

10.
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In a balance sheet the assets and liabilities are arranged in a particular order.
en122Id M HQ 1B @R M @ 188 o nIdW | 8 o (& 218 @ 210186, M® 30, IEM | & (B YD) | @R 6N

(a) State the name of this Arrangement
609 2B Mo Mg 186 Meala o ?

(b)Arrange the following items in the order of liquidity.
®26¥aj0@mMeMmeasudalld. g 1ersImadm oo 1@ (@ e s 0166, &

(a)Land and the building (b)Bank overdraft (c) Loan from Bank (d) Sundry creditors
(e) Sundry Debtors (f) Capital (g) Cash in hand (h) Goodwill.

From the following details Calculate operating profit.
®2eom 1@ 166 mailoesg e mlm)o (IR OMMEII @0 M IO B &>

Sales 80,000 Purchase 32400
Return in wards 2400 Return outwards 350
Stationary and printing 300 Commission received 450

Office expense 1600 Dividend on investment 2450

Loss on sale of old furniture 300
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CHAPTER-10
FINANCIAL STATEMENT -2

1.Score Questions

Income received in advance is @ ---------- 2D &g B 151 AUIYAIMonf) M@ ————-GR6m
(a) Asset (b) Liability (c) Profit (d)Loss

Outstanding salary is.------- 0&HIS)HOIM) BB MUG063D) @R

(a)Current asset (b) Current liability (c) Fixed asset (d) Fixed liability.

When goods distributed as free samples ------- account is credited

mOwWmeaBdmvLmMImilgralailmomos.aiemd -
@R &0 V6nE lade (@10 6.21Q1 My

(a) Sales account (b) Purchase account (c) Advertisement account (d) Drawings account.

3 Scores Questions

If opening capital is Rs. 80,000 as on 1st, April 2016 and additional capital introduced Rs 14,000
on January 1st 2017. Interest on Capital charged @ 10 % per annum. Calculate the amount of

interest on Capital shown in Profit and Loss Account as on 31 st March 2017.

2016 o)~/ l@BamM oAl 1200 Me6 1@ 1@ 1a] 80,000 ©4al®)o 2017 2MycU M laY 14,000
©a1GRW 180D I Moa & I6NB (LM 1d@06.21@) mMeaen ImImqylcdag eiwmonn 10y ateflw 10%
MR &6 @ H6eMEHIH6M). 2017 2B 2] 31

0LILIDEMYBRH VENE1Td 8 26M 106, M2 LI MO 11 alef102 8 6M &6 I B8 .

M/ S Antony & Company spent Rs 1, 80,000 on advertisement on 1st April 2018. It is expected
that the benefit of this advertisement will be available for five years.

2018 a)(~lBaMIc@@@] M/S @R DO &8 MIM el Em1m 1,80,000 ©)alallainides).
@M AOEMIoMSBMAUDIM 5 QUBHEBBEG 18IS (ol Bf 1B

(a) Identify the type of expenditure involved in it.
@ OO 02lleINT ) @@ 20 ).
(b) How the advertisement expenditure will be treated in the final accounts of M/S Antony&Co.

on 31st March 2019?

alm ailaind 2019 @d@a] 31
0 MM 1@, 05060M @GR 86 VENE 1Tha]) BBOMWIG(EMEUAA|S;OTM® o) M1 E1H: @ 106 &>
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Following is extracted from the Trial Balance of Mr. Ajin as on 31st, March 2019.
21 AEREMaf)M®IE6s 31 @23.2] 2019 OIS @EnIIRIMDMI1MT00B)BIN02RAUOSE2IBHOM

Trial Balance

Particulars Debt(Rs) Credit(Rs)
Sundry Debtors 78, 000 -—--
Bad debts 6000 ---
Provision for bad debts | = - 700

Additional Information:-

(a) Write off further bad debts Rs. 1000

@R R0 alds 1508650 BRW nf)v 0 mas]

(b) Provide for provision for bad and doubt ful debts @ 10% p.a on sundry debtors.

Sundry Debtors a0 10 % &135086sO0 1M886 (11 HMIW 186em &6 256

(c) How the items will appear in final accounts as on 31st, March 2019.

00a0M @@ H6 VNS 1RBENDE MEBBUD A J)EBBOMa® 1116M 1860)0a{SMAf) MM @I6M 186))
Write the adjustment entries for the following items.

@GR RIY 02O CRAEM@Baf)M(E 18D af) P08

(a) Wages outstanding (b) Depreciation on machinery (c) Rent received in advance



Prepare Trading and Profit and Loss Account and a Balance Sheet of M/S Lal Traders as on

31st, March 2018.
/S 2@ eswal min o0 @ enieidmlamlm,oesw1ees Gr MMl 6laldalld @R MEWIM GrEO DENE

eI M HQ o) MIOUGQUIOIH6 .

8 Scores Questions

Trial Balance as on 31st, March 2018.

Debit Balance RS Credit Balance Rs
Opening stock 12000 | Sales 200000
Purchase 80000 | Return outwards 10000
Cash in hand 8000 | Capital 75000
Cash at Bank 16000 | Bills payable 10000
Wages 11000 | Creditors 32000
Fuel and power 9000 | Bills payable 10000
Carriage inwards 3000 | Commission received 2000
Insurance 4000
Building 50,000
Plant 40000
Patents 15000
Salary 14000
Furniture 6000
Drawings 9000
Rent 1000
Debtors 40000
Return inwards 2000
| I
_ 320000
|
320000
_
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Adjustments:_ Rs.

1) Salaries outstanding 6,000
2) commission accrued 3,000

3) Wages outstanding 3,000

5) Insurace paid in advance Rs. 700

(
(
(
(4) Depreciation of Building and Plant @ 3% p.a
(
(6) Closing stock is valued at Rs. 6,000

(

7) Provide 5% provision on debtors .

From the following Trial balance of Mr. Rajiv. Prepare Trading and Profit and Loss account and

a Balance sheet on 31st December 2018.

almadorglalneomoerom1c]eeyms@ameudaidmimlmyo 2018 wlmoenid

3107 @RI M 19O MAVI TUMD & LB HEOD $6) BB EM YGRS DS ENII B ln I (@R ORI NI E6)

&,

Trial Balance as on 31rst December 2018

Debit Balance Rs Credit balance Rs
Purchases 52000 | capital 120500
Stock on 1 st Jan 2018 21500 | Sales 186000
Salaries 14000 | Sundry creditors 10900
Rent&Rates 3000
Insurance 800
Wages 25000
General expenses 3100
Sundry debtors
20000
Cash at Bank 38000
133000
Machinery
: 7000
Drawings
317400
317400
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Adjustments:-

1.Salaries for the month of December still unpaid Rs. 1,600
2. Insurance prepaid to the extent of Rs 250

3.Depreciate machinery by 10%

4. Closing stock was valued at Rs 26,000



3.

@RI AEROOCHOIBUR S MIWIEMDIWal@laltde/leema@............ @Rem

5.

CHAPTER-11
ACCOUNTS FROM INCOMPLETE RECORDS

1.Score Questions

Opening capital is ascertained by preparing
@QIOIE)MAIOS (210 E(nIUBODMAZRIWMoM AR 8O0 a]s)M).
a) Total debtors account (b) Total creditors account

(c) Cash account (d) Opening statement of affairs.

Credit purchases are calculated by preparing
HsOm 1m0 e0o)&Hmdemelen)malay Dale@O 18O mM)

(a) Total debtors account (b)Total creditors account
(c) Bills receivable account (d) Bills payable account.

Incomplete records are usually maintained by

(a) Company (b) Government (c) Sole trader (d) None of these

3 Scores Questions

From the following details prepare total bills payable account
MO0 HISYOD B 186)MENSAIS) &g 1M 1M 0 eni 1 M) Eat@eni1td @R H60VNE QDO &

(a)Total bills payable on 1st January 2016 Rs .26,000

2016 2m)UcIamImadcsmsoad0moeniledw Rs 26,000

(b) Cash paid for bills payable during the year. Rs .90,000
URHOD @GRS ca@mau’]gaga:ubma@’]ms_ygano Rs 90,000
(C)Total bills payable on 31st December 2016 Rs .42,000

31 awlmoenid 2016 GRS ¢eeNERd0Mo6milg)d:wd Rs 42,000

Calculate capital at the beginning

(a12@0BAYRIWModen8)a 15106 8

31

Capital atthe end Rs. 75,000
Drawings Rs.16,000
Profit Rs. 20,000
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Calculate profit or loss earned during the year 2017- 18
2017 -18 UIMIEDY & B HOD) |@BaIE].2J2I0EEAIMYERI & 6N8 15106, &

Capital on 1st April 2017 Rs 4,50,000

Capital on 31st March 2018 Rs 6,00,000

Capital brought by the proprietor during the year Rs 50,000
Withdrawals by the proprietor during the year Rs 25,000

From the following particulars ascertain credit purchase
@269 ]0@MA10B200EBRBMM)06(dW1Q16BBG f)(@af) M) @ ens)a 11068

Creditors on 1st April 2017 Rs. 25,000
Creditors on 31st March 2018 Rs. 40,000
Payment made in cash Rs. 50,000
Discount received Rs. 7,000

From the following particulars find out total purchase.
®26%a|0@)MA 110620 06BBE 1M 1M00 NI B0 (LI EBBB ) (@ f) MM & NSO, &>

Creditors on 1st April 2017 Rs 80,000
Creditors on 31st March 2018. Rs.48,000
Cash paid to creditors Rs. 60,000
Return outwards Rs. 6,000
Bills payable accepted Rs. 20,000
Discount received . Rs 4,000
Bills payable Dishonoured Rs. 3,000
Cash purchase Rs. 47,000

Differentiate between Balance sheet and a Statement of affairs (any three )

enuoaIdm g,

EQUQ 02N I RIal GRANCYF M af)MImen 1288~ fomeEs 1aong M| M § OTVEBBUD EREL oSO, &

From the following calculate the amount of bills accepted during 2018-19

@26 ajO@MAU @M M0 B O @M1 @ gleni1e)) 8205 ™) d: &M B I b6 &>

Bills payable as on 1st April 2018 Rs. 1,60,000

Bills payable as on 31st March 2019 Rs 2,26,000
Bill's payable dishonoured during the year Rs. 36,000

Bills payable honoured during the year Rs. 54,000
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Match the following  €.21@)0al1S1@21B86)) (5)

A B

Double entry system Capital
Statement of affairs Cash book
Creditors account Credit Sales
Closing cash Balance Scientific system
Debtors account Credit purchase

Mr. Paul Raj who Keeps his book by single entry wants to prepare trading and profit and loss
account for the year ended 31st, March 2019 and a balance sheet as on that date. Can you help
him. (8)
Mot Daf) DS IUOD 1 GB6ny 86 8 DMV 821166, MANMMBGA1DDIE |, 2019 @I 2f@dMo 31

@R oM@ 16 AUV 1EOM VI MUMD 18 UBHOD TG (S WS BRSO DNE ,6(aldal 10 BRMEWIM @B

#0v6nE, BREME1NIMoo88mMIRIDM &G af)M1AUIMPINIEOIMER D 1eNmM;.
M 168B1DH6) BRWINGMANIWEHICAD ?

Balance as on 1st April 2018
Cash in hand Rs. 2000
sundry debtors  Rs. 10500
Furniture Rs. 6000
sundry creditors Rs.12000
stock in trade Rs. 14000

His cash transactions for the year were as follows

Cash sales Rs 48000
Receipt from debtors. Rs .58000
commission received Rs . 2000
cash purchase Rs. 42000
payment to creditors. Rs 46000

Wages paid Rs. 5600
Salaries paid Rs .7300
Rent paid Rs 3400

Business expenses paid Rs.2600
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On 31st, March 2019, the trader had

Sundry debtors Rs. 26600
Stock in trade Rs 40000

Sundry creditors Rs. 15500
Wages outstanding amounted to Rs. 600
Rent paid in advance amounted to Rs.350

Depreciation @10% is required on furniture.
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CHAPTER-12
APPLICATION OF COMPUTERS IN ACCOUNTING

1.Score Questions

Find the odd one and state the reason
63Qogg@']ama;ommga;&oroanouowg&,

(a)Mouse (b) Keyboard (c) MICR (d) Printer

Expand TPS . TPS aflayelle:o1e)s

ATM stands for ....... af)$1af)oaf) MI...ceume..

(a)Automatic teller machine (b)Automated teller machine

(c) Always tell the machine(d) Any time machine

Mention the name of software used to check language syntax.

@212 syntax &Ud6.2186)6.21Q M@ M)BBEMIal QOO O0GAIND)?

The device which can send or receive pictures and texts over telephones is------

2{l6838 00N @800Q 2065a116a006MONRIM) & DU 1B &6)) W0 M.fl & @ 166)) W06 21 M
© 1M 888 1 6Mo @R 6N

(a)Fax (b) Printer (c) Plotter (d) None of these

Name the device used to print graphical output on a paper.

(12a0180@ 0 atolaf 1D 621Q M@ 1M)EEO A I @EMon RO

7.

10.
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Which of the following is not an input device.
@262 |0@MAUW TBED Do )5 O ld:@6MoBRLIIOM® o O

(a) Digital camera (b) Laser printer.(c) Barcode Reader (d) OMR

Which one of the following is not an element of computer system
@26 I0@MAU® @& M5O 00RAIS 0 BRI OD@ af@

a)lQ (b)Hardware (c)People (d) Software
Arrange the following into sequence in the order of their occurance in transaction processing

cycle.
(S2MMISHME(aIdM QY oty 006 181w 0L (@ IIBODMEBBEHS BB EBIaNEM(EHAOM IBMIO PO EIS)
O 10 106 MU @B (A0SO .

Storage, data entry , processing, validation

2 Score Questions

Mention the role of COMPUTERS in accounting (any 2)
@R 606N 16081 @ M! {3 SONN 00 Al Mg la {1666



11.

12.

13
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" Even though COMPUTERS possess many capabilities , it suffers from a number of

limitations"- mention any two limitations

& MU0 DD WIOIGo Y 1N BDONENSH; 1810eN UM &6 ailaln 1@ 12 10 16826 . ao @ 120
8 a1R 12106 (DGR ELIN|S) OO &

4 Scores Questions

Classify the following into input device and output device.

0L |O@WYMAUODEN MRS W00 UV B D af)M06B3DF a RS WT0O UMV B D af) Mo M@ 10186 .
(a) Monitor (b) FAX (c) Scanner (d) Barcode reader (e) plotter
(f) Light pen (g) Printer (h) Trackball (i) Touch screen (j) MICR

.Expand the following terms. ®2e¥a10®)mMalzeasd i lalyelle:@ 1668
(a)sQL (b) OLTP
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CHAPTER 13
COMPUTERISED ACCOUNTING SYSTEM

1 Score Questions

Expand DBMS DBMS aflayelle:c1ee)s

Find the odd one and justify your answer.

(a) Ready touse (b) Customized(c) Tailored (d) Database

An appropriate accounting software for small business organizations having one user and

single office location should be ------------
B0 IEWISMINRBQRIAlIMN0O8Ee. 210 s I IMMIL0daINEBRD H6) BRMEWOIR (RO®

(4

@RE6V6NEo0) 6MIal G OUDD —--rmmn- @1 61

(a) Ready touse (b) Customized (c) Tailored (d) None of these
Which accounting software is used in large organizations with multi uses and geographically

scattered locations?.

832 1002M (@alo2d® 2/ lo0 188 1se0mmualsglotamlaiw]dopalcwismisngggnialwmnd
a1M6BE 1Ma (@ GRS VNETo0) GVl F OB IEWIN 186

2 Scores Questions

Mr. Abin maintains his accounts manually. Mr. Subin uses computers for the preparation of

accounts.State any two differences between these two systems.

21 GRMIMGRWIE6S5G H6 VENSYEDAIMULIIW M@0 B M. 1quA MV N 10d &M | SRS Al
I 2] BRHO VENS) B DO YOI MGV ENS MY IIVEBRG Yo MmER 18 8B (O M@ 18R @ENSL | O § OTVEB3

DI @106 .
List any four advantages of computerized accounting system

@M1 {25000 W BRSO VENE lotI GVl Q)
oA 00[omE 180 MIT 1M EBBUD IS 1860 |0

3 Scores Questions

What are the factors to be considered before sourcing and accounting software?
R0)BRAOVNETo0) 6l
0QU®AAIG | NIHN)M® 1M M o 1@ 1016M 16 H6) 618 LIS & BB (OISO 6N ?

List any 3 limitations of computerized accounting system.
&MI {25000 W GRS VENE 1ot) 6MIAI0QIWA M 00RoMEs12R03M j MO @Dl dea ]S

OO >
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CHAPTER 14.
STRUCTURING DATA BASE FOR ACCOUNTING

1.Score Questions

Anything in the real world with independent existence is called --------
MO DGRV O |12 S8 WLIDBMACRII &0 1021aJ) 0 10M®;0 ————af)mglea)m)

(a) Entity (b) Attribute (c) Attitude (d) All of all these

Which term denotes the collecton of entitities

o) 0101&:8,056006U0 MM 2fla{166MalBoa(@.

3. The term Which denotes the collection of entiity instance?
oM O1G 1 DIM 08205610 eLEMO DM 2fla {186 MalBoaf® ?
4. Properties of an entity is called ----------
a0 01g @8 6s
MANERHOBOG —-- af)mmllglenym
(a) Attitude (b) Attribute (c) Code (d) None
5. The term which indicate the process of designing a database design.
BWIQICUM a1 1:H &) 166, M@ 1M 88 (& |WOWO MY aila {166MalBoaf@ ?
6. Which term represents the interaction among different entities
Ao W oM O1G 16D 128810 [ IUBEM DM} aila {166MalBoaf®.
2 Score Questions
7. Write the name of two attributes of an entity employee in an organization
B0)M0da IO 16l "ElNEOI0M "af)Maf)M 0 1G w05 M NG MO & WD af) P30
8. Briefly explain the type of attributes.
al2IMEoBR(S1on1| S 6880 1.a] 288 101G 106 6.
9. Specify the key attribute with example
)RS 1on1{§OBIANEMMaN 1Mo | SDNIHO .
10. (a) Write a suitable entity for the attributes given below.

38

MIOL|O@YMER(S ToN1|§d(DH6BRMYEWIR | AW af) M G 1G 1o (O & 6 NSO >
(a) Account code (b) Account name
(b) Identify the key attribute to that entity.
090N 0110 H51CR S 16N S RO al) L)) .



CHAPTER -15
ACCOUNTING SYSYEM USING DBMS

1 Score Questions

1.DBMS stands for------- DBMS a)m@1g afla{l66m o~

(a) Database monitoring system
(b) database Microsoft Solutions
(c)database monitoring software
(

d)database management system

2. In relational data model a row is called --------
0lealaem@wdgrsadwellmanvlomw ——— af)myailgleaym;
(a) Tuple ( b) Attribute (c) Cell (d) Domain
3. Which of the following is RDBMS?
®260¥al0®MAUW@ERAW i laf)oal) M a@?
(a) C (b) C++ (c) Oracle (d) All of these
4. Which term represents the number of rows in the table?
a1516:®1021010 1682050 f) RO O (IO 1M W) @186 MalBoaf @2
5. Which element is used to enter edit or display data in a data base?
80WIQIeIMTMBWIQIM@EI6MIaf) WG 21QII6MI(a1BAWla{1#0IEMIQaIEINHOYM ~QIS @0
a®?
6. Which element is used to get specific information from a database?
aowdQaeeumIadmIm mldelyaaoamdeale]eam1a) af@ els &2d6m Qale®I0 166,
mo?
7. e are used to store data inthedatabase e
- WIQICNIMIBwd® GIEIR1EOIMOaIE@IU 180,
(a)Table (b) Queries (c) Relationship (d) All of these
8. Fill in the blanks with suitable data type.
Name . Text
Birthdate @ -------
9. List any two ways in which queries can be created in Libre Office Base.

39

afeeEniadadlmiceoniml@ sty M) lee00d P 1M SIS 8Dl b0 SO0



10.

11.

12.

13.

40

Reports generated for some specific conditions or exceptions is called ---------

2{laim1dg)eggal§ UM S 6 L0810 80R) & D006 UME M Yo 1.2]0160 0BG 808
ag)myallglee)m;

(a) Exception report (b) Demand report
(c) Responsibility report (d) Summary report

Expand the following terms.
®I60¥al0®)MaleeEBdlal)elle:o]86) 8

(a) OLE (b) URL

3Scores Questions

Explain data type. Give 3 examples.
WIQIMEoN110E)E:@ 186 8 39BN DEMEBBUDM @ d:) B>

Manu wants to create a table in LibreOffice base. Suggest suitable data type for the following
fields
eflenidedadlmy eeni @M 0alg 1M & l86 U MAMGR (a0 186 M0 96 alO@YM Bl WRD B

GRMEWIR AIWWIQIMEMIBEBUE 1868 .

Field Data type
Job ID ?
Job Name ?
Job Type ?
Job department. ?
Job unit ?
Jib time ?




